
pirmyX sMiKAwvW 

1. j/mK fbfynK ftZu'A fejVk ;jh BjhA j?<   Which of the following is not true? 
a) 𝒂 + 𝒃 = 𝒃 + 𝒂  c)  𝒂 × (𝒃 × 𝒄) = (𝒂 × 𝒃) × 𝒄 
b) 𝒂 × 𝒃 = 𝒃 × 𝒂  d) 𝒂 − 𝒃 = 𝒃 − 𝒂 

 
2. j/mK fbfynK ftZu'A fejVk ;jh BjhA j?<  Which of the following is not true? 

a) 
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c) 
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d) 
𝟐
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3. 
−𝟒

𝟓
+

𝟑

𝟖
=

𝟑

𝟖
+ (

−𝟒

𝟓
) ftZu j/mK fbfynK ftZu'A fejVk r[D do;kfJnk frnk j?<   

Which property is used in the given expression 

a) gfow/: ;zfynk i'V d/ nzsors pzd Closure of rational numbers under addition 
b) gfow/: ;zfynk bJh i'V eqw tNKdok Commutative of rational numbers under addition 
c) gfow/: ;zfynk bJh xNkT[ eqw tNKdok Commutative of rational numbers under subtraction 
d) gfow/: ;zfynk bJh i'V ;fjuo Associative of rational numbers under addition 

 
4. j/mK fbfynK ftZu gfow/: ;zfynk 𝒂

𝒃
 bJh fejVk i'Vkswe ss;we j?<   

Which of the following is an additive identity for a rational number 
𝒂

𝒃
  

a) 0  b)  1  c) −𝒂

𝒃
   d) 𝒃

𝒂
 

 
5. j/mK fbfynK ftZu gfow/: ;zfynk 𝒂 bJh fejVk r[Dkswe T[bN j??<  

Which of the following is an additive inverse for a rational number a  

a) 𝒂  b) −𝒂  c) 
𝟏

𝒂
   d) 

−𝟏

𝒂
  

 
6. d' brksko gfow/: ;zfynktK ftueko fezBhnK gfow/: ;zfynktK jz[dhnK jB<  

How many rational numbers are there between any two consecutive rational numbers?  

a) 0  b) 1  c) 2  d) nDfrDs Infinite 
 

7. 3 ns/ 5 ftueko fezBhnK gfow/: ;zfynktK jB<  
How many rational numbers are there between 3 and 5? 

a) 1  b) 4  c) 2  d) nDfrDs 
 

8. j/mK fbfynK ;zfynktK ftZu'A fejVh ;zfynk B{z ;zfynk o/yk s/ BjhA do;kfJnk ik ;edk j?<  
Which of the following number can not be represented on the number line? 

a) 0  b) 𝟓

−𝟒
  c) 𝟏

𝟎
   d)  ^12  

 
 



9. 
−𝟑

𝟒
× {

𝟐

𝟑
+ (

−𝟓

𝟔
)} =

−𝟑

𝟒
×

𝟐

𝟑
+

−𝟑

𝟒
× (

−𝟓

𝟔
) ftZu j/mK fbfynK ftZu'A fejVk r[D do;kfJnk frnk j?<  

Which property is used in the given expression? 

a) i'V dk ;fjukosk r[D Associative under addition   
b) r[Dk dh xNk s/ tzvD;ahbsk Distributive of multiplication over subtraction 
c) r[DK dh i'V s/ tzvD;ahbsk  Distributive of multiplication over addition  
d) r[Dk dk ;fjukosk  Associative under addition 
 
10. j/mK fbfynK ftZu'A fejVh ;zfynk 2 ns/ 3 ftueko j?<   

Which of the following number is between 2 and 3? 

a) – 𝟐. 𝟓  b) 𝟐𝟕

𝟔
  c)  𝟑𝟏

𝟏𝟓
  d) 𝟑

𝟐
  

 

11. 
−𝟑

𝟒
 dk i'Vkswe T[bN dZ;'. Additive inverse of 

−𝟑

𝟒
 

a) 
𝟑

𝟒
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𝟑
  c)  𝟑

−𝟒
  d) 𝟒

𝟑
 

 

12. 
𝟓

−𝟐
 dk r[Dkswe T[bN dZ;' . Multiplicative Inverse of 

𝟓

−𝟐
 

a) 
𝟐

𝟓
   b) −𝟐

𝟓
  c) 𝟓

𝟐
  d) −𝟓

𝟐
 

 
13. j/mK fbfynK ftZu'A fejVk r[Dkswe ss;we j?<  Which of the following is a Multiplicative Identity? 

a) 
𝒃

𝒂
   b) 𝟏

𝒂
  c) 0  d) 1 

 

14. 
−𝟓

𝟖
×

−𝟑

𝟕
 dk r[Dkswe T[bN gsk eo' . The multiplicative inverse of 

−𝟓

𝟖
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−𝟑
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a) 
𝟓𝟔

𝟏𝟓
   b) 𝟏𝟓

𝟓𝟔
  c) −𝟏𝟓

𝟓𝟔
  d) 𝟓𝟔
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15. 
−𝟒

𝟓
× 𝟏 = 𝟏 ×

−𝟒

𝟓
=

−𝟒

𝟓
 ftZu fejVk r[D tofsnk frnk j?<   

Which property is used in the given expression? 
a) r[Dk dk eqw tNKdok Commutative under multiplication 
b) r[Dk dk ;fjukosk Associative under multiplication 
c) r[Dkswe ss;we  Multiplicative identity  
d) r[Dkswe pzd  Closure under multiplication 

 
16. j/mK fbfynK ftZu'A fejVk ;jh BjhA j?<  Which of the following is not true? 
a) – (−𝒙) = 𝒙     c) 𝒙 × 𝟏 = 𝟏 × 𝒙 = 𝒙 
b) 𝒙 × (𝒚 − 𝒛) = 𝒙𝒚 − 𝒙𝒛   d) 𝒙 − 𝒚 = 𝒚 − 𝒙 

 

17. 
−𝟏𝟗

𝟐𝟗
×

𝟐𝟗

−𝟏𝟗
= 𝟏 ftZu fejVk r[D tofsnk frnk j?< Which property is used in the given expression? 

a) r[Dk dk eqw tNKdok   Commutative under multiplication 
b) r[Dkswe T[bN Multiplicative Inverse 
c) r[Dkswe pzd  Closed under multiplication    
d) r[Dkswe ss;we Multiplicative Identity 

 



18. j/mK fbfynK ftZu'A ikhVI sMiKAw -2 qoN CotI nhIN hY?<  
Which of the following is not smaller than -2? 

a) 0  b) −𝟒  c) −𝟐. 𝟓  d) −𝟏𝟓

𝟕
 

 
19. j/mK fbfynK ftZu'A fejVh ;zfynk −𝟏 ns/ 0 ftueko j?< 

Which of the following is between -1 and 0? 

a) −𝟐  b)  −𝟓

𝟕
  c) −𝟕

𝟓
  d) −𝟑

𝟐
 

 
20. j/mK fbfynK ftZu'A fejVh ;zfynk dk T[bNeqw ;zGt BjhA j?< 

The reciprocal of the number………… is not possible. 

a) −𝟒  b) 𝟐

−𝟑
  c) 0  d) 5  

 
21. d' gfow/: ;zfynktK dk r[DBcb jw/;ak HHHHHHHHHHHHHH jz[dk j?<   

Product of two rational numbers is always………. 
a) e[dosh Natural Number      c) g{oB ;zfynk Whole Number  
b) ;zg{oB ;zfynk Integer      d) gfow/: ;zfynk  Rational Number 

 
22. e'Jh d' gfow/: ;zfynk 𝒂 ns/ 𝒃 dk wZX fpzd{ HHHHHHHHHHHHHHHHHH j?.  

The mid point of two rational numbers a and b is………… 

a) 
𝒂+𝒃

𝟐
  b) 𝒂𝒃

𝟐
   c) 𝒂−𝒃

𝟐
   d) 𝒂

𝒃
 

 
23. j/mK fbfynK ftZu'A fejVh ;zfynk dk T[bNeqw, ;zfynk nkg j?<  

Which of the following number is the reciprocal of itself? 
a) 0  b) −𝟏  c) 𝟏  d) 𝐛 𝐚𝐧𝐝 𝐜 𝐛𝐨𝐭𝐡 

 
24. T[j gfow/: ;zfynk dZ;' i' nkgD/ foDkswe d/ pokpo j?.  

The rational number which is equal to negative of itself………….. 
a) 0  b) 1  c) −𝟏  d) e'Jh BjhA 

 

25. 
−𝟐

𝟑
× (
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𝟔
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−𝟐

𝟑
×
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 ftZu fejVk r[D tofsnk iKdk j?.  

Which property is used in the given expression 
−𝟐

𝟑
× (

𝟑

𝟒
×

−𝟓

𝟔
) = (

−𝟐

𝟑
×

𝟑

𝟒
) ×

𝟓

𝟔
? 

a) r[Dk dk eqw tNKdok Commutative under multiplication 
b) r[Dk dh i'V s/ tzvD;ahbsk Distributive of multiplication over addition 
c) r[Dk dk ;fjukosk Associative under multiplication 
d) r[Dkswe ss;we  Multiplicative Identity 


